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HPE_CIEF10_X-Zapfen-Empfindlichkeit  Ysum=100
g−F10_X,s(λ) = 2 m−F10_X,1(λ) − l−F10_X,1(λ)

D65: Σg−F10_X,s(λ)=49,95
g−F10_X,s(λ1,m,2)=2,58, 5,17, 2,58

λ1,m,2=482, 530, 567
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HPE_CIEF10_X-Zapfen-Empfindlichkeit  Ysum=100
g−F10_X,s(λ) = 2 m−F10_X,1(λ) − l−F10_X,1(λ)

D50: Σg−F10_X,s(λ)=37,86
g−F10_X,s(λ1,m,2)=2,50, 5,00, 2,49

λ1,m,2=490, 530, 568
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HPE_CIEF10_X-Zapfen-Empfindlichkeit  Ysum=100
g−F10_X,s(λ) = 2 m−F10_X,1(λ) − l−F10_X,1(λ)

P40: Σg−F10_X,s(λ)=29,99
g−F10_X,s(λ1,m,2)=2,28, 4,58, 2,28

λ1,m,2=492, 535, 571
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HPE_CIEF10_X-Zapfen-Empfindlichkeit  Ysum=100
g−F10_X,s(λ) = 2 m−F10_X,1(λ) − l−F10_X,1(λ)

A00: Σg−F10_X,s(λ)=16,31
g−F10_X,s(λ1,m,2)=2,07, 4,14, 2,06

λ1,m,2=500, 540, 574
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HPE_CIEF10_X-Zapfen-Empfindlichkeit  Ysum=100
g−F10_X,s(λ) = 2 m−F10_X,1(λ) − l−F10_X,1(λ)

E00: Σg−F10_X,s(λ)=46,63
g−F10_X,s(λ1,m,2)=2,39, 4,78, 2,38

λ1,m,2=485, 530, 569
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HPE_CIEF10_X-Zapfen-Empfindlichkeit  Ysum=100
g−F10_X,s(λ) = 2 m−F10_X,1(λ) − l−F10_X,1(λ)

C00: Σg−F10_X,s(λ)=54,11
g−F10_X,s(λ1,m,2)=2,36, 4,72, 2,36

λ1,m,2=475, 540, 570
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HPE_CIEF10_X-Zapfen-Empfindlichkeit  Ysum=100
g−F10_X,s(λ) = 2 m−F10_X,1(λ) − l−F10_X,1(λ)

P00: Σg−F10_X,s(λ)=37,88
g−F10_X,s(λ1,m,2)=2,28, 4,58, 2,29

λ1,m,2=488, 535, 570
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HPE_CIEF10_X-Zapfen-Empfindlichkeit  Ysum=100
g−F10_X,s(λ) = 2 m−F10_X,1(λ) − l−F10_X,1(λ)

Q00:Σg−F10_X,s(λ)=57,12
g−F10_X,s(λ1,m,2)=2,49, 5,00, 2,49

λ1,m,2=481, 525, 567


